



**\$14,750,000**

## **113 REGATTA DR, JUPITER, FL, 33477**

<https://ritterproperties.com>

This stunning waterfront British West Indies-style home offers 5 spacious en-suite bedrooms, 6 full baths, beautiful gourmet kitchen, large office/study, Flex room/bedroom, elevator, two laundry rooms with a large loft. Designed for luxury and comfort, this residence features expansive water views, refined architectural details, and seamless indoor-outdoor living. All nestled within the prestigious gated luxury [...]

- 5 beds
- 6 baths
- Residential
- Single Family Residence
- Active
- 6240 sq ft

---

### **Basics**



**Date added:** Added 8 months ago

**Type:** Residential

**Bedrooms:** 5 beds

**Half baths:** 2 half baths

**Area:** 6240 sq ft

**SubdivisionName:** Admirals Cove

**GarageSpaces:** 3

**ListAOR:** Miami Association of REALTORS®

**Category:** Single Family Residence

**Status:** Active

**Bathrooms:** 6 baths

**Total rooms:** 11

**Lot size, sq ft:** 16187 sq ft

**ListOfficeName:** Waterfront Properties & Club C

**View:** Canal, Lagoon

**MLS ID:** A11832085

---

## Rooms



Room type	Dimensions	Area	Length	Width
PrimaryBedroom	20.8 x 20.4	424.32	20.8	20.4
Other Room	15.1 x 14.6	220.459999	15.1	14.6
LivingRoom	20.8 x 18.16	377.728	20.8	18.16
Loft	21 x 15	315	21	15
UtilityRoom	9.4 x 9.8	92.12	9.4	9.8
Kitchen	14 x 17	238	14	17
Grt Rm	20.8 x 18.6	386.88	20.8	18.6
FourthBedroom	15.8 x 15.1	238.58	15.8	15.1
SecondBedroom	14.8 x 12.2	180.56	14.8	12.2
FifthBedroom	18.4 x 14.4	264.96	18.4	14.4
ThirdBedroom	15.1 x 14	211.4	15.1	14

---

## Building Details



**Cooling features:** Central Air, Zoned

**ArchitecturalStyle:** Detached, Two Story

**Building Name:** Admirals Cove

**Exterior material:** CBS Construction, Concrete Block Construction

**Parking:** Driveway

**Year built:** 2026

**NewConstructionYN:** No

**Heating:** Central, Zoned

**Roof:** Other

---

## Amenities & Features

**Features:** Elevator, Entrance Foyer, Family Room, First Floor Entry, Loft, Other, Pantry, Storage, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s)

**Amenities:** Dishwasher, Disposal, Microwave, Refrigerator

**WindowFeatures:** Impact Glass

**PoolFeatures:** In Ground, Heated

**GarageYN:** Yes

**CoolingYN:** Yes

**FireplaceYN:** No

**Spa Features:** Community

**CommunityFeatures:** Pool, Tennis Court(s), Exercise Room, Game Room, Gated Community, Golf Course Community, Mandatory Hoa, Pickleball, Sauna, Security Patrol, Sidewalks, Spa/Hot Tub

**ExteriorFeatures:** Built-In Grill, Other

**Waterfront available:** Yes

**AttachedGarageYN:** Yes

**PoolPrivateYN:** No

